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1 Find the coefficient of x* in the expansion of (2 + 3x)°. (4]

2  Find the binomial expansion of (2 — x)*. [4]
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3 Find the binomial expansion of (2 + x)*, writing each term as simply as possible. (4]

4 Calculate °C,.

Find the coefficient of x* in the expansion of (1 — 2x)%. (4)



( Z«%z)qr

° (L)
> . > ¢ (33 )
- 244‘ 4’(23']:( + L(Z) xL,(-c(-(?-)x + = ] 4 C« |
T 3 4
= [C + 32> 4+ 24 A x A+ =
C- o S & 22T
- - " J 20
4> QCZ 223! K., 3TN
c
Cl-zx)
? ?( 2 )3
Tecm fw X - 4('3(() — o0
- Zé%\x(—gxg)
= - /éox3
Coc:{% c'pvcg ~ —[CO
Hwk Ple.%e_ c_ov..f(gk( C £. (0

Eroo sleet awilcd £ =




